
Scientific Notation (D)Convert each ordinary number to scientific notation.
8,800 = 910,000,000 =

0.00051 = 0.0000000289 =
96,000,000 = 0.0000369 =

3,820 = 83,710,000 =
22,000,000 = 97,080 =

0.00000004389 = 493,000,000 =
0.000000059 = 0.00983 =
0.000006696 = 0.006449 =
0.00000598 = 44,600 =
396,000,000 = 91,420 =
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Scientific Notation (D) AnswersConvert each ordinary number to scientific notation.
8,800 = 8.8 × 10³ 910,000,000 = 9.1 × 10⁸

0.00051 = 5.1 × 10⁻⁴ 0.0000000289 = 2.89 × 10⁻⁸
96,000,000 = 9.6 × 10⁷ 0.0000369 = 3.69 × 10⁻⁵

3,820 = 3.82 × 10³ 83,710,000 = 8.371 × 10⁷
22,000,000 = 2.2 × 10⁷ 97,080 = 9.708 × 10⁴

0.00000004389 = 4.389 × 10⁻⁸ 493,000,000 = 4.93 × 10⁸
0.000000059 = 5.9 × 10⁻⁸ 0.00983 = 9.83 × 10⁻³
0.000006696 = 6.696 × 10⁻⁶ 0.006449 = 6.449 × 10⁻³
0.00000598 = 5.98 × 10⁻⁶ 44,600 = 4.46 × 10⁴
396,000,000 = 3.96 × 10⁸ 91,420 = 9.142 × 10⁴
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